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5�1
���� :������
� 
���
������ ���

��
�������� ��� �������1�� A���� ���!! �B��� C7�
��� �6 �%D! -���

#�$�%� ��6 ��� *'
$ �%	� ��(C����� �� 7�����E�� �6 *�B ;�1�F�

���B�� ��$���!�� �%!9�$�� ������ ����! ������> .�$ ��+( *��G .> *�F

��'����� .��
������'� ��!
��� �6 ��%	� . ���� �� �BG�.

IJ��� ���$ #�$�%���$ ��
�������� �$!�!�� ���� .� 72��� &'(�����

�%����	�� ���$-�9��� +�.��
�������� "����� ��)�$�%��� "������

"�1 &'(.� F>#��
 ��)�$�%� ,��1� ���� .� K!�! ��)�$�%��� "����

���1!� 7� ����
 ,���K!�! ����$7�
��� ���1 .( ��
�������� "����

��1F L��
 ��� I��6 ���1����#�$�%��� .�$ ��
� ��$!�� *��%6 �B%�� I

��
��������� .$�#�$�%���$ �$!�! .�!���� +� .� ������� �B%$J'�� �B�

7
� ����1� ��%�'(
���
��������� �����(electromagnetic force).

�� ��)�$�%��� ,��1��� ���1 ���!� ��
��������6I��
�������� 7�
��� �

*�B �6 ��$��4��� "����I�� ���$ ��)�$�%� ,����! ��1! .�� �$F

��M$.&'( �G��� !� ��
�������� 7�
��� �9�$� "�1��� NBG �6 ����
�

��� ������ ��)�$�%��� ,��1�����%�� "��	!
F� ��	��� ����!�� �.

5�2
���
������  �
!"�� ��
������

��
�������� .� ����� .� ������ ��!9��'!��� ���� ��� ��9�$� ����

��> �%�� &�9�$ I��1������! ."����� ��2 �� 7
���$ "����� .� .�����

#�$�%��� .( ��!�� "���!� ���� ����1��$ �%�� "��	�� NBG �6 L��
.

7�
��� <9$� ��6 ���9� ,F�1 �6 �%D!�.

���.� ��9�$��� ������� .�
�:� -�(#������ J��2:�� .������ 7���.

�����2:� ��'�� .� �%�
� J!���<9$ .� D1F ����(A��!
! .��9���

������ ��	��–��
�������� 155



�%� I���1�� "���$� I���9� .��9� �B� ."��� .� #������ ���! ���

. $� ��9�$� ��2 ����� "�� ���!� ,��� ���1�� "���$ �B� &'( ���������

7�
��� NBG &'( ��� !�� &'( "���� 3�� �������'� .�.���� ����$ A�

.������� ���!
� �+���� �9$ ����&'( ���1������������1�� .�

���1 �9�� *��$I�9�$� �������$ ��� *�B L����$�! ���'�( J


������'��O���!�� �6 �*'�! <��� .� &'( �� ��� �'��$�� �(���$

��
� ��
������ ����� .

.�$�������)3Q1(�6��9��� ��9�$��� ������ <9$.

)� (���������4� ��� &'()�(.��1 "��1 ��� &'( �������

�����)5Q1(

5�3#���$�� %��
������ ��&��� '����

�6�!!��������9�����7%9��� -�� -�9� ���� �
�� "���$ ����1>��� F

,���� ���%
�� NB%$ ������� &'( ���1�� .�� 7� ��9$$ ��� ,�� &�>�

��6 ��9�$��� ������� �G �6��9��� ������� 7D9�.C�
������ A��� -��6

C��)�%� �!�
������ #���> �� ��'( �D6�1��� A��!
� -���

.�6�B> ��� -��9�����$���
������ ��4� .� ��(�� ���1 "���$������

�%�� ���� �$�� .�NBG ��
������ .� &'( ��� ��� ��6��$ J�!'!

��4��� ���$ .� �$�� -����� .��������� -���� &�
! �
!"��

(poles)�������'� .> �����%���$  
!��5�%���&������'( ��


������	� ���!� �	�<��� S�
 J�6 �1 ���$ ���� N���1� .� ������

��$���6������ ������ �1� ��!�)����� ��� ��
6(�6�� ��!� ����$
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�6������ ������ �1� ��T�)�$��� ��� ��
�( .��46 ���� ����

7� ��� ?� ��%49$ .( .�$���� ��6 .� ��$� �����!� 7� 7%�� ���� �����

� &!1 .���N�1�� �$��� ��� �� N�1�� ����� ��� &'( ���1�� .T .

���
� ���.�	�� &�> ��
������ �$�4���'�1�
������ &'(.�.���5

��%�� �1�� �������1��� ����� ��%�� �$���� ����� .�$��&'( ��'�1�

���!��� �	� .

49$ .� .�
������ ��$�� �B> ���� �$��!�� .� .�$! IL��� �%� .�.U6 ��%

,��1��� ��� ����! I�B��!! �	'!���� ������� �6��!! �'���!��� ������

��)�$�%��� .� ��G .���������� .����(law of poles)&'( @�� ?B��

.� : (�&�� 
�)�	���  �
!"�� �*���� 
)+�����  �
!"�.

��,�:

�
������ "�$: ������� ����� .U6 ������ .���� �
1$�1� �B��� �

<�E� �$����� �
�������� ����� .�1� �B> �BG "�$:� ��� ��!� �B���

C<�E� �6������ ������

 ��&��:����� �1� �$���! ��!� <�E� �$����� �
�������� ����� .�

S�1� ��9��� �%� �6������ �������.

5�4%��
������ ��&���

����������1 "���$������ �������� &'( ������ �6 ��� I)3Q2(I

��������� �$�� .� J'��! "��1� ���� J6� �8�!! "���$�� .� ��D1+� .

������ NBG &�
!%��
������ ��&��� 
�
	..� ���� �$�� .� D1+��

.> ���� �B%�� I��$�
 ��	'
� ��� I.�$���� ��� ,9��! �� "���$����$

��&���(intensity)�$�� *��G.�����.�
�������� ������ ���� ���!�

L�� ��� I�(�4�� ��
������ "�$> NB� ! ?B�� &1���� �%�� ���� ?� ��(

����� �6)5Q2 .(����� S4�� ���)4Q3 (�
�������� ������ ����
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.�	'!���� ��G�$�� �$��!� ;�1$ .�(�4�� .�
������ .�$ K!����)3Q3� (

.+��!��� ��G�$���)5Q3�.(

8����� "���8����$ �
�������� �����B7�D��� �6 �!�1� &'( J'���

7
� ������-��(Tesla)8���� &�9!�T?��
! �G�1 N/A.m.���

�!�� ��
������ F��� .� .�$!1 T��� ���$� �$!9� .,F��� "�� .U6 �B�

8���!!F ����9�� ,��$!���� �6 "�6�!��� �������0.01 T .������ ���

����1� ���6 <�E� �
��������. 5
5 10 T

)� (.�	'!�� .+$��!��� .�$����)� (��!� .+$��!��� .�$����.�'�

�����)3Q3 :(.�
������ .�$ �
�������� ������ ����

���� �$�!��������
����������4��� "��'������� �������4�

�
������<��� ��� ���!�� &'(�����$ S4�� �G ��� I)4Q4(;�1 I

������� ����� .� D1+���!� ��������� �B%�)�$���! (� �1�����

������� ����� �1� �$����� �$�� ��!� ����$ <�E� �6������ �$�����

�6������.
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�6������ ������

�6������ ������

�����)3Q4(

N���!��� �4��� �
�������� ������

5�5������� .)/ 
���
������ ����� ��+��0

.� ��� .��� -�� C<��� ��
������$ ?��9�� #��%�� ,��B �� !! �G

9�� �BG @1	!��� .� ��$ ��1! �!�� <��� ��
������ ����	! -�� -�

�6 ,����!��:� ���1 &'( �
�������� ������ ��� ! .� ��	!
� �G C����

C��!�$�� ��)�$�%��� "8%���



������ �	'!���� ����!�� .� .�$!7
� *�1! �B>�!�1�q�%�6 ����� �6

�
������ �����!��B�(�
$v�����(��'(U6� A4�� ��"��

��+9��$ �%!��� &�9! ��
������:

F=qvB)5Q1 (

������ N��!�� 7
��� �(�
 .� �� &'( �����( "���� NBG ��!!�?� I

��%� ?��1�� ?�!
��� &'( �����(����� �6 ��� I)3Q5.(

�( ��$� ��� 7
��� �(�
� �$
���$ ��
�������� "���� N��!F�!��1 &' .*�B

�(�
 &'( �����( "�� ?� .��%!��� .� ��8!F 7
��$N��
� .( �6�1!

�?�)�� ��
� �6 *�1!� �'9�!�%!��� ��8��� "�� �%�� ?� Imv
2
/r .

F

B

v

q

�����)5Q5(

?�)���� ��
��� ��� -�� �6�9� .����.�1�� 7
� ��'( *�1!� ?B��

�
������ ���� �6���%
$.
� .� ��4�!6� �BU6�!'!� ��m�!�1��q

�
������ ���� �%�6 ����� ���B�(�
$vI"���� ���� .��! B)��(

�G ��'( "��V���:

F=qvB

.� ��$�"������8��� �%6 �(�
�� &'( �����(I�.� ?:

������ ��	��–��
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2v
qvB m

r

��$�
�� ��+9�� .� ?�)���� ��
��� ��� -�� ��� 7� .��:

)5Q2(
mv

r
qB

��+�)5�1(

�!�1� .�!��$ ����e=1.6×10
19
 C�!'!��m=1.67×10

27
 kg

�(�
$v=5×10
6
 m/s�!�� �
������ ���� &'( �����(0.1 T . 

��
��� ��� -�� ��� .�!��$�� &'( "��V��� ��
�������� "���� ������

C��'( *�1!�
 ?B��

����:

��+9�� 7��!
�)5Q1 (���6 ��
�������� "���� ���� ��
1�:

19 6 14(1.6 10 C)(5.0×10 m/s)(0.1T) 8.0 10 N

F qvB

F

��+9�� .� ?�)���� ��
��� ��� -�� ��� ���)5Q2:(

-27 6

-19

(1.67×10 kg)(5.0×10 m/s)

(1.6×10 C)(0.1T)

mv
r
qB

25.2 10 m=5.2 cmr

������ ��	��–��
�������� 161



5�6%3����� ���� .)/ 
���
������ �����

���1 .( K!�� �)�$�%��� ���!�� .� ��$.U6 ���1���� 7�
���?�����

�
������B&'( ��
������ "��$ ��V�*'
��'( ?���(����l����

���! ��6I .�&�9!"���� NBG ������+9��$:

)5Q3( F IlB

N��!�$ I����! .�1�� 7
� ���1 ���1 �6 ��� I�4�� "���� NBG ��!!�

��!�� &'( ?���(�����$ .�$� �G ��� I������� �)5Q6.(

F

B

I

�����)5Q6(

���! �� .�1�� 7
� &'( "��V��� ��
�������� "���� N��!� ���1! .����

&����� ���� 7���!
�$ ���
$ �����$ �)�$�%� .�(�
 N��!�$ 7�%$:� ����6

B)��( I������ N��!�$ A$���� ���$ ���! ����$ �)�$�%��� ���!�� �� 7
���

���������$ S4�� �G ��� I��
�������� "���� N��!F ����� -���)5Q

7.(
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������ N��!�

���!�� N��!�

"���� N��!�

�����)5Q7 :(��
�������� "���� N��!� ���1! �����

��+�)5�2(

�!�� ��
�������� "���� ��4��A���� *'
 �%�20 cm���! ��6 ���5 A

�!�� �
������ ���� �%�6 ����� �6 A4�� ����(0.1 T�9� A���

����890C

����:

��+9�� .� ��	!
�)5Q3 (�!���:

(5A)(0.2m)(0.1T)

0.1N

F IlB

F

5�7��������)&��

��� ��%� ��'�( ,���$�! ��)�$�%��� *+
�� &'( "��V��� ��
�������� "��'�

������� ��!��1 �6 �%���!
� �!�� ��)�$�%��� "8%��� �(���� .NBG 7G� .�

"8%�����������)&��� A���� �	�94�� ��)�$�%��� ,����!�� �
1!� ?B����

���!�� �����)�!���� (,��	�� ������)�!��	����!.(��6 �!�����	'��� -� !�

.� ������ �
$�,�	� "�( ��� &'( -'��'��!
��!���$ #���!
�$ ��'��

�!��%���
��� ������ ���!'� ����$ .+��! .�!'�� .��6 .�$ -'��� A4���

����� �6 ��� I�������)3Q8(�� �$� ��� ;�1$ I.��� ��6 ���! ?� ��

�$���! ��6� A4�$ ����
 .A'4�� A4�� B)��( -'��� �6 ���! ��� ����(
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ab��
������ "���A'4�� �%� A4�� �!�� "��'� �
��9�� ����
�cd;�1$

�G ��� I�(�
�� ����( A� ����6 =���8� 78( ��� ! ,1! -'��� ����

S4�� .��� A� �
��!� =���8F� 78( .� ��$����!�� ����8�$ ��8! �!�� "�

������6��$� �G �BG� ���!�� A� �
��!� -'��� .���� .U6 *�B� *'
��

�!�����	'��� ��(.

����� S4���)5Q9 (;�1 �!�����	'��� ����!A4��8���$ ��V�

-'���I?B���$��$�!6 *�$�8I;�1$"���� ��� ! ,1! -'��� ����

�
��������.� &�> �.8��!��%�( K!���� =���8F� 78(*�$�8�� �!6 78( A�

8�%��� �6 ����� ���!�� A� �
��!! ���9� ����8 ��( .�$��� K���! A4���

���� 7�( ��( �	�'� ���� ;�1$ ��V���?�-'��� �6 ���!7�7!!

�� ���1!� -'��� �6 ������! �6��9� "���� ,����! ����!$ �!���9��A4

K���!�� &'( ��V��� .�8.

���� ���!

d

c
b

a

�����)5Q8 :(�!�����	'��� ��$�

!�
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��9� &!1 .���!�����	'���J��� ���$���.�F�� !�-'��� .����.8�$

*'
F�-'�� "����

.���9� ����9�� ��� ��� �9�6�

� ����( �!�������$
��
�
1� ���$ *�$�8��$ -'��� �$!�� .� ��� ��� I

����( .��)�$�%��� "����� .U6 ��$� �)�$�%� ���! 8�%��� �6 �� �B> *�B�

"���1� ���1!���*'
�� �6I����9�� �!����� �$
$ I��$� .��!
?�V� ���

��%��F"��$� �(�
$ �� � IN" �6���� �
�� ���

F�*�$�8��$ ��$!�.� �6�.�!��1��8�%��� ���� .*�B�

�!�����	'��� 7��!
�?�1!���$�� �''���� �$!�� .� ��� "������ ,����!�

���
� ����� ��� I.���� �!����'��1!

��$ ���$!��$*�$�8�� .?�'!� .��! .� ������ �

.� ��*'
��.��� .�

�
������ =���8� 78(

�!6 *�$�8 -'�

���!

?�� ?���1 ��

�����)5Q9 :(�!�����	'��� ����!

��� 7��!
���

V��� ���� .� .��� ��

��9� *�B .U6 �!'

�

���6 "��$� ,����! ����� �����!1 ��

I���! �������������!�� "��	�� �6.

5�8� ����������)�!��� (

"��$� ,����! ����� �!�����	'��� 7��!
� .� .�����)�$�%� "��� �6�B>

8�%��� ���� ������ .� ���!�� .� �$��� #8��� A��� .� ��9�!
� .7!��

�$ "��( *�B J��1!��������"�(8�� "(shunt)����"(rshunt)I

$������������	'��� -'� ������ A��!I8��!�� &'(9� ?�IS4�� �G ���

������ ��	��–��
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�����$)5Q10(I8� &�> ���!�� �8�!� ;�1$��6 ��� �$��� #8��� ��� .�

�(8������� ����$�� #8�����6 ��-'�����	'����! .A4���

I���!�� ����� &(�! "�1�� �$'9$ �(8���� �������� A� �!�����	'�����

����� .�$� ��� I�!����)5Q11.(

5�9� ����������)�!��6��!(

A����� �%��� J�6 ���������������!����� ���$ �!�����	'��� .�

����!�� &'( ��$� ������$� ;�1$�(������ �6�� .�$ �%��� J�6 ���

��	'���S4�� �G ��� I�!�!��	�

�����$)5Q13.(

�%
��� ������ ����'� ����
�.���S4�� �G�6�����)5Q12.(A4� 7!��
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,�	'�� .� ��(N&�> ����
� ���� �'��� J6�!�� .U6 -'��� �6:

)9Q5 ( cosT NBA

�$�� X$ J6�!�� "�1� &�9! ;�1Weber���9! �!��� T.m
2.

��6D1F?�����6�B> �������J6�!������.� �
��������-'��� �+�

�%D� <�1��� ���!�� .U6I�!$�� J6�!�� ��$ �B> ����	!�� ���!�� .U6 .

��D1+J�� ;+� L�1U$ J6�!�� ����! .��� ��� ��$�
�� ��+9�� .� :��U6

�� I.�8�� A� ���!� ���! .� N���� . � I�
�������� ������ "�� ���� .�

���� .�.� �� I.��1�� �'2� �6 �'�( ��2 �BG� -'��� A��� �1�
�

'��� S�
� ����� .

��'�9�� ��1�� ����

!�

B�����* 4���

!$ -�\� �$
���$ ��G�1� ��� ��� N��!� .�$ ����8�� ����

�� .� ���$�! �G����� J���� �%
� "����� ��� �$!9!�

����!�� ,��1� �6 �)�$�%��� ���!�� ����!� ��)� ���$ 7��!
.

5�20!

.� ?�����6 ���!�$
-'��� �6 ���! ��%D. �����G� �����$��

,94�J6�!�� ���! ��9�� �����$�� NBG "�� .�$ �$�6 I��6�� .�$

�
���������$(-'���$����!�� ��+9��:

)5Q6 ( induced
t
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���� ��+9�� NBG &�
!�
�������� ;1�� �6 ?�����6 ..&�
!�"��

�� �����$����!���� ���G�
=����� 
�3������� ����� .

��+�)5�6(

.�$ �%D!

C-'��� �6��

����:

������� �����1� "���$������
� -'��9��� �1�
�2 cm
2��(�

�!�	�500����� �6 ��� I)5Q24�(I!6��8.� ������ "��0.1 T&�>

0.3 T�+�4 ms . ���������"��4�1��� ��)�$�%����!��

-'��� �+� .� �)��!$F� J6�!�� �
1�:

4 2

1 cos (500)(0.1T)(2 10 m )cos90 0.01WeberNBA

�)�%��� J6�!�� �
1� 7�:

4 2

1 cos (500)(0.3T)(2 10 m )cos90 0.03WeberNBA

��+9�� .� �!�� 7� .�)5Q6:(

2 1

-3

(0.03 0.01)Weber
5V

4×10 s
nduced

t t
i

C��8�� 4���!�

��

U6 +��-'��� �6 ?�
� ���!�� .

5�21��� ������ D�&��

��B���	'��� -��1�� �%� .� N+(������!! ,��� ?�����6 �$��! �6 �!

��������� ���1 �
1$.�%� $ K!���� <�1��� ���!�� �%� 8�� .���� ��1��

J6�!�� ���! ��9$ .-'��� �6 ��8� �
�������� J6�!�� .�� �B> ��� ?�

��� �������'� ������� ����� ����!�
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�������'� �$����� �6�� ���� ;�1$�� ��

5Q25(��9��$ ��9��� I.

��+�

��)5Q25 (���!�� �%� ,���!�

� I<�1������!�� �%� ,���!� ������� .� F�$ �$����� ����� ��$�� �� �

�4��)C�B���.(

<�1��� ���!�� �%� B� � ;�1$ �!�).���� ?�

8�� (�����$ �$!�� �B�� ��$!(F�$:

)5Q7(

����� ���I����� �6 ���

)

<�1��� ���!�� ������� ����� ���1 �%�

�����)5Q25 :(.� J6�!�� ���! ��( -'� �6 <�1��� ���!�� ���1 N��!�

��� �6 -'��� .( ��������� �9!$� �'6

� ?�����6 .���� .U6 �B%��

induced
t

5�223������� ������%

�� "�G�D .� ��	!
����!� ��!���� ��4��1!�� ���1��� "����� <�1��� ���!

�+� .� #�� ���
 (&�>

�

���������� ������ ���1! 7!� ;�1 #�$�%���)�

��)�$�%� ���� .7��� ��4�� -'� .� ������ -� !� ������ �
$� �	6

��+� .� �
�������� J6�!�� ���!�6 7�D!��$ -'��� ���� 7� ,$�� �������

����!
�$�4�1� ���1� "�� ��%D .( *�B �	
�6)�����$ ?�(�6 ��� I
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�����)5Q26(I�'��� "��� -'��� .���� ��( ��� D1+� ;�1��6 .�$

������������8!�7� J6�!��@���!��G��!� ���� 7� "��� -�� ��� �+�

�%� ������ -���� �+� .�B��%� .� �4�� "���!� K!���� ���!�� �%� .��!

5�23%3������� ������

���� ?���1 �� ��
��$ ��%49$$ .�'�!� .�	'� .� ��1��� ���

,����\� �1�� .� .����$ .�	'��� �1� ��!��

���"� 6)�(primary)������ ���� ����$

�L��7� �	�'� @���!� 7� &�D( ����� �	��� .� �!��� ���!! ;�1$

�$��
 ����)�G��!� ���� ?� (*����� �B�G� �	�'� ��9��.���!�� &'( J'��

���!� ���! 7
� K!����.

.����� �%�

�!���

"�1�� "���

K!���� ���!�� .�8��

�����)5Q26 :(���!� ���! ����

!�

�!��
�������� J6�!��

7
� ��'( J'��6 �%� J�6��

������ .� �	!� �G�� ?��
�F �� �%� J�	$ �'���! ������ 8�%���$

��
�� .7
� -'��� �BG &'( J'��B���+�� 6)��� .

������ ��	��–��
�������� 182



.�!�+9�� �
1$�)5Q5 (�)5Q6 (,�	� ��( A� �
��!� J6�!�� ���! .U6

-'��� �6�� .�$ ���1��� "����$ ,�	'�� ��( ��4 ���1 .� ;�1$ -'���

.� ?� I.�	'��� +�� �
	� �G:

)5Q8( p s

p sN N

;�p�&'( I?������� "����

I��!�����$Np�Ns��!�!�� &'( I?������� ��
�� .�	'���

�4.

�%�'� <6���� ��1��� �.� �$�� ��
�� -'��� ,�	� ��( .���

��� I?���S4�� �G����� �6)5Q27 .(�� -'��� �$���J�	$ ��


���( �%���!��%� J�	� =�!1� 8�%�$ ?������ -'��� ���� ����$

<	� .

2:(�%�'� <6�� ��1�

1s��
�� .�	'��� �6�� .�$ ���1���

,�	� ��( !��

��

	6

���

�

��

���!� ���( �

< �%� J�	���

%� J�6

6

�����)5Q7

�$�� ?������ .� ��� ��
�� ,�	� ��( .��!6 �%�'� A6���� ��1��� �6 ���

�%� J�	� =�!1� 8�%�$ ?������ ���� ����$ <	��� �%� J�	$ ����

����� �6 ��� I���()5Q28.(
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�����)5Q28 :(�%�'� A6�� ��1�

.� ?� I?����'� �'����� *'!:

���( �%� J�6

���!� <	��� �%� J�6

���!�� ��� .� �4�� .����.�� 7� �B> ��� �D1+�$ ?������ -'��� �6 �����

"����� �6 ���4 *��G)��1��� *+
� �6 (��
�� .( ��!���� "����� .U6

?��
!

)5Q10( p p s sI I

��! ���9� -'� �6 ���!�� ���! .� ��$�
�� ��+9�� .� K!�!
����6 �%��� � .

��1��� �	6�	�$ I��
E� �$
���$ ?������ �6 ���!�� <	��� �%�'� A6����

�%��� ��6 A	!�� ?B�� ��9��� ..� ��1� F�1� �����!
� �BU6110 V&�>

220 V��
�� �6 ���!�� ���� -�� .��� ?������ �6 ���!�� .U6 .

S�1� ��9��� ���!�� <	�.����� S4���)5Q

29 (�$!���� �6 ��'�( F�1�.

� �%�'� A6���� ��1���6

�����)9Q29 :(��1�
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��+�)5�7(

��(��

? .�� �B>1000����( ?������ �6 ���!�� ��� C �	�

��
�� �6 ���!��2 AC

����:

��+9�� 7��!
�)5Q

.� ��1� �6 �%��� A6�� 78+�� ?������ ,�	�110 V&�>220 V

�1� ��
��.���

8 (�!���:

110V 220V
2000

1000

p s
s

p s s

N
N N N

��+9�� .� �!�� ���)5Q9:(

(2A)(110V)
1A

220V
p p s s

s

I
I I

p p

sI
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���
������ :�
�������� ������ "�� .��! �������� .� J����

��.����� 7
� ������ NBG &'( J'��

�$����� ������ �������.

 �
!"� 4���! :�B��!! �	'!���� ������� �6��!! �'���!��� ������.

&'( �$ ���1��� ������� &'( �������

��� ���1!��� ,��1��!*��G ��)�$�%��� ,��� .�
�������� ������ "�1�

�� �G+
! T .����� � ������� =��� �
�������� ������ ��!�

�$����� ���'� ������� .���'� �$����� ����� .� �'��� ����$

�����.

%=�"� %��
������ ��&��� :<��� �$!9!?�1! �%� ����$� �
������

���$ �6������ �$����� ����� ������� �$�� ����� I�G��� ���!�� &'(�

�6������ ������� ����� �$����� �$�� �����.


������� ����$�� .)/ 
���
������ ����� :��1� ?� A4�!q��
!

�(�
$v�
������ ���� &'( �����(B�%!��� ��8��� "���qvB.

%3����� 7)� .)/ 
���
������ ����� :���� *'
 A4��l���! ��6 ���I

�
������ ���� &'( �����(B�%!��� ��
������ "���IlB.


���
������ ����� D�&�� :�� ���1!� I��1� &'( ��
�������� "���� ��!!

�
�������� ������� ���1�� N��!� .� �� &'( �����( I���! ��6 ��� *'
.

�������)&�� :������ ,����!�� ?�1!� 7��!
� 8�%� .���1! .���

���! ������ �!����	'���)�!��� (�%� J�6 ������)�!�!��6.(

10Q%��
������ ��&��� ����� :���1 .� �
�������� ������ ���!�

��)�$�%��� ,��1���)�)�$�%��� ���!��.(


���
������ :L��> .��9� �� ���1 "���$ �B� &'( .��9��� <9$ "���

�%�.

 �
!"�

������� ���$ .� �$�� �G��(

%��
������ ��&��� :�� ��� !

��

.

��!�

��
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���
 7)�� %��
������ ��&���
72 10 I

B
r

%���
�� 6)�� %��
������ ��&���:74 10B nI

�����������4��8���� 4��)� 4�� ��
�� ����� .)/ 
���
:
7

1 22 10F I I

l r


���
������ ��!�
���:�� .�9� ���$ �%!����!��> �1!! ,��B �(�������

��������9� ��2 �'�1� ��
�������� �%!F.



����� 
����� ������ :"��$� ��
�������� �%!����� �'�1� .��! ����

6"����� �9�!�
������.

%��
������ 9*���� :�1�
� �+� .� ����� �
�������� ������ "�� �����

����+9��$ &�9�� :cos
T
NBA

B�����* 4���! :������+� .� J6�!�� ���! ��( -'� �6 �4�1��� "����

induced
t

8�� 4���! :1$ <�1��� ���!�� �%� .��!&�> L�� ?B�� �$
�� ���9� ;�

����1.

%3������� ������ :����� ��1���)�$�%� ���� &�> ����������� �.

%3������� ������ :��( A� ��
�� �6�� .�$ �%��� J�6 �
��!��!�	�

.��� ;�1$ ?����'� �$
���$ *�B�� :p s

p sN N
�%
	� "����� .��! ��� I

.� ?� :p p s sI I
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)3��

. � G

*�B� .��!�C

2Q�� ������� #��
 ������� �$�� &�> �����1�� ��� ��� �B��! �B���

������ N��!�$ � .N��!� ?� �6

�9$ #��8�	�� � (;�1$ #�$�%��� ��� ��
�������� .�

��G�1� .� .��4�	�� NBG <�� *���� -��C

7
�'� ����1�� ������ "���8�*!$��> 3��� C.

�(�
$ ,/s

�!�� �
�����4.0×10
2
T . ��V! �!�� ��
�������� "���� ������

NBG .��� C.��!��> �� &'.�!��$ &'( "��V��� *'!$ "����F�$.�

.��!��:.

1Q���! ���15 A�!�� �
������ ���� &'( ?���( 7��!
� *'
 �6

0.85 T .&'( "��V��� ��
�������� "���� ������2 mC*'
�� .�

1Q�%�'( ?�!1! .� ��� �!�� ��9��� �� C ��
������ � ��9��� ������ �

�


��6 ��%�� �1��� �B��!F� �$�����C

3Q�6 ��� 7��!
� ��6� *'
 �6 ���! �����! �

���!
>"�$��$��� �1� &'( �� �!1!�� *'
�� J�6 �(�4�� �'��$C

4Q���� ��!9�)��� 7�

.���"����� "����9� �9������� .( ������� ����� �8(� ��� !��$

@'�!�� 7� �$�����

5Q�$��$ *�1!� .�1�� 7
� &'( "��$ ��������� ��V� .�BG ?�V� �G

6Q�$!���� ����� &'( ��4�� *'
 �6 ���! ��� .A��!
! .�!���� ��B�

���!�� N��!� �6�9� ��%!�
��$.

7Q"�� "���8� J�� ;+� ��B��)�$�%� ���! ����.

8Q�!��� ����! ���� ��9�10 A���!� 8�%� =�!1� .�1 �62 A��6 .

C*�B J��1! *���� -��

9Q����!��:� .� ��81 *�1!!3.0×10
6
m&'( �����(

� ����

(

�

0

������ ��	��–��
�������� 188



11Q�!�� �
������ ���� ��!�.��!��> *�1!� ����$ ������ �1�

�(�
$ J���� �1�8×10
6
 m/s . "��V��� ��
�������� "���� N��!�� ��

.��8��!� .��'
 .�$ ����� "�1�� &'( "��V��� ��
�������

.� ��

�120 VC

2.0 AC

(�%��� �'��!
�10 cm�%4�(�5 cm;�1$

C��!�

90�� C

��1��� "��� ,��� �B> ?������ �6 ���!��270 kWC

16 T

����

C.��!��:� &'(

12Q� "���� ��

�!��� �1�� ���! ��%�6 ���10 A��%��$ �6�
��� ,��� �B>10 cmN��!� ���

"���� NBGC

13Q���1� ��
�1 =�!1�(portable)�%� J�	�12 V���� .�

240 V . 

)� (��6 ��
�� ,�	� ��( ��1� �6 ?������ ,�	� ��(�� 480C

)� (���! �� �B> ��
�� �6 ����� ���!�� ��125 mAC��
�1�� �6

14Q���!$ �9� -	�� ��9�10 A�%� J�6�120 V . � 7�

J�	$ -	���� 7��!
� &!1 ��1� �6 ?����'� ��
�� ,�	� �$
� .��!�%�

240 VCB)��( -	���� �6 ����� ���!�� �� C

15Q�%�'� A6�� ��1� �6 ��
�� -'��� ,�	� ��(80?����'��1200 . 

)� (�
�� �%� �B> ?������ �%���

)� (�����
�� �6 ���!�� .�� �B> ?������ �6 ���!�

)X� (C��1��� �BG .( ��!����� �'����� "������

16Q"��( A4�!loop)

�!�� �
������ ���� &'( �����( �%1�
 .���0.4 T . 

)� (C "��9�� �+� .� J6�!�� ��

)� (�+� �%!1�
� -��� "��9�� @'�!!10 ms . ���1��� "���� ��

��� �4�1���

17Q�
�� ,�	'�� ��(��%�'� A6�� ��1� �6200�	�?�������3000

�	� .��
�� �%� J�6 .�� �B> ?������ �6�� .�$ �%��� J�6��V
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�������� 189AHMAD AL-HADIDY

JORDAN –ZARQA

TEL – 0777409465

HADIDY_66@YAHOO.COM


